Timely Practice subtract NC strand 2

new learning questions

NO calculator

1.

There are 76 people in a theme park ride queue.

25 get on to the ride and no one joins the queue.

How many people are still in the queue?

There are 28 passengers on a ferry.

7 passengers get off the ferry and no one gets on.

How many passengers are still on the ferry?

Hunter is sorting out his place.

He has 37 take away containers.

Hunter puts 35 take away containers in his recycling container.

How many take away containers does Hunter have left?

. A hotel has 57 pillowcases.

The hotel sends 27 pillowcases to be cleaned.

The rest of the pillowcases are still in the hotel.

How many pillowcases are still in the hotel?

Lucas is sorting out his bedroom.
He has 88 reading books.

Lucas gives away 24 reading books.

How many reading books does Lucas have left?

Answers 1) 51 2) 21 3) 2 4) 30 5) 64
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